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Total No. of Printed Pages:03  

SUBJECT CODE NO: - ZZ-1511 

FACULTY OF HUMANITIES  

B.A F.Y (Sem. I)  

Examination May / June - 2023 

Sociology - II    Indian Social Institution 

 

[Time:1:30 Hours] [Max. Marks:40] 

Please check whether you have got the right question paper. 

N. B 1) All questions are compulsory. 

 2) Use blue or blue per only  

 3) Use pencil for diagram 

 4) Use of any, sins, attracting, attentions 

 1) सर्व प्रश्न सोडवर्णे आर्श्यक आहे. 

 2) फक्त विळ्या वकिं र्ा काळ्या पेिचाच र्ापर करार्ा 
 3)आकृत्यासाठी पेन्सीलचा र्ापर करार्ा. 

 4) शे्रणतीही लक्षरे्धक र् सािंकेवतक खुण करण्यास प्रवतबिंध आहे. 

 

Q.1 A) Answer multiple choice questions (attempt all) 

 

1) ______ is an institution for admitting men and women to family life. 

A) Marriage Institutions                B) family institutions 

C) Political institutions                  D) Economical institutions 

 

स्त्री आवण पुरुष यािंिा कौटुिंबीक जीर्िात प्ररे्श देणारी_____ही एक सिंस्था आहे. 

अ) वर्र्ाह सिंस्था    ब) कुटुिंब सिंस्था  क) राजवकय सिंस्था  ड) आवथवक सिंख्या 

 

2) Childcare is a function of which serial institutions.  

A) Religious institutions                           B) Family institutions  

C) Political institutions                             D) Economical Institutions 

 

बालसिंगोपि करणे हे कोणत्या सामावजक सिंस्थेचे काये आहे  

अ) धावमवक सिंस्था             ब) कुटुिंब सिंस्था,  

क) राजवकय सिंस्था                  ड) आवथवक सिंस्था 
 

3) In a patriarchal family in whose name does the lineage run?  

A) Mother          B) Brother          C) Father               D) Cousins 

 

वपतृसत्ताक कुटुिंबात र्िंश कोणाच्या िार्ािे चाललो  

अ) आई       ब) भाऊ       क) र्वडल        5) चुलते 

 

 

4) Which family size is bigger?  

A) Joint family                        B) Nuclear family    

C) Patriarchal family              D) matriarchal family 
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कोणत्या कुटुिंबाचा आकार मोठा असतो ?  

अ) सिंयुक्त कुटुिंब.       ब) कें द्र कुटुिंब  

क) वपतृसत्ताक कुटुिंब.          ड) मातृसत्ताक कुटुिंब. 

 

5) Hindu marriage Act passed in  

A) 1929       B) 1955       C) 1956              D) 1961 

 

वहन्दु वर्र्ाह कायदा इ.स______ साली सिंमत  झाला.  

अ) १९२९      ब) १९५५      क) १९५६        ड) १९६१ 

 

B) Answer in a sentence (attempt all) 

1) What is social institutions? 

2) What is monogamy?  

3) Who hold the power in a matriarchal family?  

4) Common residence is characteristics of which family?  

5) Define family. 

एका र्ाक्यात उत्तरे विहा. (सर्व अविर्ायव) 

१) सामावजक सिंस्था म्हणजे काय ?  

२) एक वर्र्ाह म्हणजे काय ?  

३) मातृसत्ताक कुटुिंबात सत्ता कोणा कडे असते ?  

४) सामावयक विर्ासस्था हे कोणत्या कुटुिंबाचे रै्विषे्य आहे.  

५) कुटुिंबाची व्याख्या सािंगा. 

 

 

 

 

 

 

 

 

 

 

 

 

05 

Q.2 Explain concept / term / Units / events (any two)  

(word limitation minimum 60 for each answer) 

      1) Aims of Hindu marriage.       2) Polygamy.         

      3) Patriarchal family.                  4) Characterises of social institutions  

सिंकल्पिा / सिंज्ञा । घटका घटिा स्पष्ट करा. (कोणतेही दोि)  

(प्रते्यक प्रश्नास शब्द मयावदा)  

      १) वहन्दु वर्र्ाहाचे उदे्दश            २)  बहुवर्र्ाह    

       ३) वपतृसत्ताक कुटुिंब                      ४) सामावजक सिंस्थेची रै्वशस्थे 

10 

Q.3 Attempt answer in short (any two)  

(word limitation minimum 60 for each answer)  

1) Explain the characteristics of Joint family? 

2) Explain the nature of matriarchal family?  

3) Explain the functions of social institutions  

4) Explain nature of Nuclear family. 

10 
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(थोडक्यात उत्तरे विहा. कोणतेही दोि )  

(प्रते्यक प्रश्िास वकमाि ६० िब्द मयावदा) 

१) सिंयुक्त कुटुिंबाची रै्विषे्य स्पष्ट करा.  

२) मातृसत्ताक कुटुिंबाचे स्वरूप स्पष्ट करा.  

३) सामावजक सिंस्थेची काये स्पष्ट करा.  

४) कें द्र कुटुिंबाचे स्वरूप स्पष्ट करा 
 

Q.4 Answer in Detail (any one)  

(word limitation minimum 200 for each answer)  

1) Explain the meaning and charactertics of family.  

2) Discuss "Muslim marriage is contract" 

सवर्स्तर उत्तर वलहा. कोणतेही एक)  

१) कुटुिंबाचा अथव आवण रै्वशटे्य स्पष्ट करा.  

२) "मुस्लिम वर्र्ाह एक करार आहे" यार्र चचाव करा. 
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